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IR F—Ls &5%8A 100m  200m 800m 1500m 5000m 110mH 400mH 3000mSC 5000mW 4x100mR 4x400mR FEE B #HEBk EIEBE =Rt ARk AT o8 OUKR @
1 BAXE 134 8 5 6+2 2+7 6+7 8 5 3+2  1+4+5 3 4+3+7 6+7 5+8 1+7
2 AEERE 106 2 6 5+6 4 4+8+5  6+8 7 4+8 2+6+7 2+1 1+7 2
3 REFEEHA 88 1+7 4+8 5 6 14245 8 2+1+7 448 8+2 3 3 3
4 EiE 54 8 3 2 7 2+3 1+6 4+8+2
5 g — 47 3 4+5+3 8 5 6 3 3
= E 44 6+4 7 1 1 3+7 1 6
T EET 36 2 5 5+3  6+8+7
8 #FH 26 7 6 3 4
9 #milm 2% 5 3 7 3

10 FiseE 23 4 4 4

11 Jeitk 17 1 8 8

12 $i8 16.5 1 2 1.5+7 1 4
13 BT 16 7 6

14 FFHE 16 7 5+4

15 $BH 14 6 5 3

16 AR 14 4 3 6 1

17 AR 115 5+1.5 5
18 #iiE 9 2 1 6

19 3R 8 8

19 &EPE 8 8
21 $iREE 8 3 5

22 & 8 4 4

23 HIFEE 6 6

24 §t E¥kr R 5 5

25 FFEHPR 2 2
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FHNTEEFBRSEFFREFTHRERASH A TH-LEBRE EHRRRS

B F—Ls &5%/A 100m 200m 400m 800m 1500m 5000m 110mH 400mH 3000mSC 5000mW 4x100mR 4x400mR
1 BAXIHE 86 8 5 2+6 2+7 7+6 8 5 3+2  5+4+1 8 7
2 AEER 66 2 6 6+5 4 8+5+4  8+6 7 5
3 #hiEnaEI 38 4+6 7 1 1 7+3 1 8
4 FimE— 35 3 6 4+5+3 8 5 1
5 ki 33 8 8 3 2 7 3+2
6 RRFEHH 31 7+1 8+4 5 6
7 ¥l 25 5 3 5 7 3 2
8 i 23 7 4 4 4 4
9 ¥ ¥H 19 7 6 6

10 Jti% 17 1 8 8

11 AR 13 4 3 6

12 #rim T 10 7 3
13 HFFE 6 6

14 §f E¥xr B 5 5

15 Frimrm 3 3

16 #7i8 3 1 2

16 $7:E 3 2 1

18 FTFEMP L 2 2
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FHNTEEFBRSEFFREFTHRERASH A TH-LEBRE EHRRRS

B F—Ls BHER Eab #ab EEB DB ik AR o PYUE
| RRFEHR 54 5+2+1 8 1+2+7  8+4 2+8 3 3
2 BARIE 40 3+7+4 6+7 5+8
3 S ERE 38 8+4 6+7+2 2+1 1+7
4 32T 36 2 5 3+5  7+6+8
5 ki 21 6+1 4+8+2
6 FTFEHEME 16 7 4+5
KR ED 14 6 5 3
8 FimE— 12 6 3 3
9 i 9.5 1.5+7 1
10 #r5m 8 8
11 % 8 4 4
12 5 H 7 3 4
13 At 6.5 5+1.5
14 #Frim T 6 6
14 Fid 6 6
16 #7578 5 5
17 AR 1 1
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IR F—L &5B5 100m  200m  400m 800m 1500m 3000m 100mH 400mH 5000mW 4x100mR 4x400mR FES Bk =SB EMEBE =EEBE FafLik FHEEE v DPYE tes

1 FAEER 115 5 3 1+2 4+2 4 6 5 8+5+7  5+6 3 5+8+6  1+6+8 8+7
2 iRl 107 3+7 4+7  4+8+6 14748 4+6+7 5 8+6 8 8
3 RRFEHR 101 8+5+4 8+3+6  5+7 5+7+2 7 6 7+3 5 7 1+3 2
4 iR 85 1+6 5+2 2 6+7 6 7+3+6 3 7 6 7+2 3 6
5 BAE 74 2 1 2+1 8 5 3 3+4+6 1+4+7  2+4+8 6 7
6 FiRE— 53 8+4 4+5 3+8 4 4 8 5
71 1kE 33 8+6 1 1 2+1 4+3 2 5
8 & 15 8 7
9 /R 15 2 5 8
10 #riBm 15 3 3 2 2 1 4

EES 13 7 6

12 $1i8 12 1 5 6

13 #riRiImE 11 2 5 3 1

14 Fi¥MEE 8 8

15 %M 7 7

16 FIEMEE 4 4

16 FIEER 4 4
18 Friam iz 3 3
19 HHRE 2 2

20 EERE 1 1
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FHNTEEFBRSEFFREFTHRERASH A TH-LEBRE EHRRRS

B F—Ls &E84S 100m  200m  400m  800m 1500m 3000m 100mH 400mH 5000mW 4x100mR 4x400mR
1 #iBaR3I 107 3+7 7+4  6+8+4 7+1+8  4+6+7 5 6+8 8 8
2 HRFEEHR 67 5+4+8 6+3+8  7+5 2+7+5 7
3 Finm 67 6+1 5+2 2 7+6 6 7+3+6 3 7 6
4 FimE— 40 8+4 5+4 8+3 4 4
5 FEERE 32 5 3 2+1 2+4 4 6 5
6 BAIE 22 2 1 2+1 8 5 3
7 1&EiE 15 6+8 1
8 $imiLrd 11 2 5 3 1
9 $riam 10 3 3 2 2

10 $TFEH 7 7

11 #i5 1 1




BEER KEHR XFI1—IF

FHNTEEFBRSEFFREFTHRERASH A TH-LEBRE EHRRRS

B F—Ls BHER Eab #aB EEB =B ik AR o PYUE
1 AEERE 83 8+7+5  6+5 3 8+5+6 8+1+6 7+8
2 BARIE 45 6+4+3 147+4  4+8+2 6
3 KRFEEHS 32 6 7+3 5 7 1+3
4 & 15 8 7
5 FinsE— 13 8 5
6 AR 13 7 6
7 1&EiE 13 1 142 3+4 2
8 i 12 2+7 3
9 it 11 5 6
10 $TFEHEMA 8 8
11 A 7 2 5
12 $iam 5 1 4
13 FTFEHE 4 4
14 &S 2 2




